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1. xzhd QSyasDl fdl ns’k dk izfl) lSU; laxBu 

Fkk \ 

 
1. Greek Phalanx was the famous military 

organization of which country ? 

(A) ;wuku  (A) Greece 

(B) Ýkal  (B)  France 

(C) bZjku  (C)  Iran 

(D) jkse  (D)  Rome 

2. xzhd QSysaDl esa lSfudksa dh fdruh la[;k gksrh 

Fkh \ 

 
2. How many soldiers were there in the 

Greek Phalanx ? 

(A) 16684  (A) 16684 

(B) 16384  (B) 16384 

(C) 16483  (C) 16483 

(D) 16834  (D) 16834 

3. xzhd QSyasDl dh lcls NksVh bdkbZ dgykrh 

Fkh \ 

 
3. The smallest unit of Greek Phalanx was 

known as : 

(A) esjkdhZ  (A) Merarchy 

(B) VSfDll  (B)  Taxis 

(C) Qkby  (C)  File 

(D) MkbykWdh  (D)  Dilochy 

4. xzhd QSyasDl dh ,d Qkby esa fdrus lSfud 

gksrs Fks \ 

 
4. How many soldiers were there in a single 

life of a Greek Phalanx ? 

(A) 18  (A) 18 

(B)  21  (B)  21 

(C)  16  (C)  16 

(D)  24  (D)  24 
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5. QSyasxkdhZ esa dqy fdruss lSfud gksrs Fks \ 
 

5. How many soldiers were there in the 

Phalangarchy ? 

(A) 256  (A) 256 

(B)  5200  (B)  5200 

(C)  4200  (C)  4200 

(D)  4096  (D)  4096 

6. QSyasDl ds laxBu esa dSVkiqYV ds uke ls fdls 

lanfHkZr fd;k x;k Fkk \ 

 
6. What was referred as Catapult in the 

organization of Phalanx ? 

(A) ;q) ;a=  (A) War Machine 

(B) xnk  (B)  Bludgeon 

(C) ryokj  (C)  Sword 

(D) yEck Hkkyk  (D)  Long Spear 

7. QSysaDl ds laxBu esa lfjlk ds uke ls fdls 

tkuk tkrk Fkk \ 

 
7. What was known as Sarisa in the 

organization of Phalanx ? 

(A) yack Hkkyk  (A) Long Spear 

(B) ;q) ;a=  (B)  War Machine 

(C) laxhu  (C)  Bayonet 

(D) dqYgkM+h  (D)  Axe 

8. jkseu lsuk ds laxBu dk D;k uke Fkk \ 
 

8. What was the name of the organization of 

the Roman army ? 

(A) QSysaDl  (A) Phalanx 

(B) gLrkrh  (B)  Hastati 

(C) yhtu  (C)  Legion 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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9. jkseu yhtu esa dqy fdrus lSfud gksrs Fks \ 
 

9. How many soldiers were there in the 

Roman Legion  ? 

(A) 5200  (A) 5200 

(B)  1200  (B)  1200 

(C)  4200  (C)  4200 

(D)  1800  (D)  1800 

10. jkseu yhtu esa lSfudksa dk QSyko fdl vk/kkj 

ij fd;k tkrk Fkk \ 

 
10. On what basis soldiers were deployed in 

Roman Legion ? 

(A) vk;q ds vk/kkj ij  (A) On the basis of Age 

(B) la[;k ds vk/kkj ij  (B)  On the basis of Numbers 

(C) ‘kL=kL=ksa ds vk/kkj ij  (C)  On the basis of Weapons 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

11. osykbV~l lSfudksa dk vk;q oxZ D;k gksrk Fkk \ 
 

11. What was the age group of Velites 

soldiers ?  

(A) 18 ls 20 o”kZ  (A) 18 to 20 years 

(B) 16 ls 24 o”kZ  (B)  16 to 24 years 

(C) 25 ls 30 o”kZ  (C)  25 to 30 years 

(D) 30 ls 40 o”kZ  (D)  30 to 40 years 

12. gLrkrh lSfudksa dk vk;q oxZ D;k gksrk Fkk \ 
 

12. What was the age group of Hastati 

soldiers ? 

(A) 24 ls 30 o”kZ  (A) 24 to 30 years 

(B) 18 ls 25 o”kZ   (B)  18 to 25 years 

(C) 25 ls 45 o”kZ  (C)  25 to 45 years 

(D) 30 ls 40 o”kZ  (D)  30 to 40 years 
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13. fizaflisl ds lSfudksa dk vk;q oxZ D;k gksrk  

Fkk \ 

 
13. What was the age group of Principes 

soldiers ? 

(A) 16 ls 21 o”kZ  (A) 16 to 21 years 

(B) 30 ls 40 o”kZ  (B)  30 to 40 years 

(C) 18 ls 25 o”kZ  (C)  18 to 25 years 

(D) 30 ls 45 o”kZ  (D)  30 to 45 years 

14. f=;kjh ds lSfud fdl vk;q oxZ ds gksrs Fks \ 
 

14. What was the age group of Triari  

soldiers ? 

(A) 40 ls 50 o”kZ  (A) 40 to 50 years 

(B) 50 ls 55 o”kZ  (B)  50 to 55 years 

(C) 56 ls 60 o”kZ  (C)  56 to 60 years 

(D) 60 ls 64 o”kZ  (D)  60 to 64 years 

15. jkseu yhtu esa fdl bdkbZ dks lcls vkxs 

j[kk tkrk Fkk \ 

 
15. Which unit was placed at the forefront of 

the Roman Legion ? 

(A) osykbV~l  (A) Velites 

(B) gLrkrh  (B)  Hastati 

(C) f=;kjh  (C)  Triari 

(D) fiazflisl  (D)  Principes 
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16. jkseu yhtu esa fdl bdkbZ dks lcls ihNs 

[kM+k fd;k tkrk Fkk \ 

 
16. Which unit was placed at the rear of the 

Roman Legion ? 

(A) osykbV~l  (A) Velites 

(B) fiazflisl  (B)  Principes 

(C) f=;kjh  (C)  Triari 

(D) buesa ls dksbZ ugha  (D)  None of these 

17. vjcsyk dk izfl) laxzke dc yM+k x;k Fkk \ 
 

17. When did the battle of Arbela take  

place ? 

(A) 331 bZ- iw-  (A) 331 BC 

(B) 326 bZ- iw-  (B)  326 BC 

(C) 331 bZloh  (C)  331 AD 

(D) 326 bZloh  (D)  326 AD 

18. vjcsyk dk laxzke fdu ns’kksa ds e/; yM+k  

x;k \ 

 
18. Battle of Arbela was fought between 

which of the following countries ? 

(A) bZjku&bjkd  (A) Iran-Iraq 

(B) ;wuku&felz  (B)  Greece-Egypt 

(C) bZjku&;wuku  (C)  Iran-Greece 

(D) jkse&;wuku  (D)  Rome-Greece 

19. vjcsyk dk laxzke fdu lsukifr;ksa ds e/; 

yM+k x;k \ 

 
19. Battle of Arbela was fought between 

which of the following commanders ? 

(A) Msfj;l rFkk usiksfy;u  (A) Darius and Napoleon 

(B) fldUnj rFkk Msfj;l  (B)  Alexander and Darius 

(C) fQfyi rFkk Msfj;l  (C)  Philip and Darius 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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20. ;wukfu;ksa dk frjNk ekpZ loZizFke fdlus 

izpfyr fd;k Fkk \ 

 
20. Who first introduced the oblique march 

of the Greeks ? 

(A) fldUnj  (A) Alexander 

(B) Msfj;l  (B)  Darius 

(C) gSuhcy  (C)  Hannibal 

(D) usiksfy;u  (D)  Napoleon 

21. Msfj;l dkSu Fkk \ 
 

21. Who was Darius ? 

(A) bfrgkldkj  (A) Historian 

(B) ;wuku dk jktk  (B)  King of Greece 

(C) bZjku dk jktk  (C)  King of Iran 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

22. vjcsyk ds laxzke esa fdl ‘kkld dh ijkt; 

gqbZ \ 

 
22. Which ruler was defeated in the battle of 

Arbela ? 

(A) fldUnj  (A) Alexander 

(B) usiksfy;u  (B)  Napoleon 

(C) Msfj;l  (C)  Darius 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

23. vjcsyk dk laxzke fdl ‘kkld us thrk Fkk \ 
 

23. Which ruler won the battle of Arbela ? 

(A) fldUnj egku  (A) Alexander the Great 

(B) usiksfy;u  (B)  Napoleon 

(C) gSuhcy  (C)  Hannibal 

(D) Msfj;l  (D)  Darius 
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24. vjcsyk ds laxzke esa fdldh lsuk dks lcls 

vf/kd gkfu gqbZ \ 

 
24. Whose army suffered the most loss in the 

battle of Arbela ? 

(A) fldUnj dh lsuk  (A) Alexander‟s army 

(B) usiksfy;u dh lsuk  (B)  Napoleon‟s army 

(C) Msfj;l dh lsuk  (C)  Darius‟s army 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

25. fldUnj egku dkSu Fkk \ 
 

25. Who was Alexander the Great ? 

(A) jkse dk lsukifr  (A) Roman Commander 

(B) bZjku dk lsukifr  (B)  Commander of Iran 

(C) ;wuku dk jktk  (C)  King of Greece 

(D) Ýkal dk lsukifr  (D)  Commander of France 

26. fodsUnzhdj.k ds fl)kUr dks loZizFke fdlus 

viuk;k \ 

 
26. Who first adopted the principle of 

decentralization ? 

(A) Msfj;l  (A) Darius 

(B) gSuhcy  (B)  Hannibal 

(C) fldUnj  (C)  Alexander 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

27. ohjrk ds ;qx dk vkjEHk fdl ;q) ds lkFk 

gqvk \ 

 
27. Age of Valour was started by which 

battle ? 

(A) gsfLVaXl ds laxzke  (A) Battle of Hastings 

(B) Øslh ds laxzke  (B)  Battle of Crecy 

(C) ,fMª;kuksiy ds laxzke  (C)  Battle of Adrianople 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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28. ,fMª;kuksiy dk laxzke dc yM+k x;k \ 
 

28. When was the battle of Adrianople  

fought ?  

(A) 331 bZ- iw-  (A) 331 BC 

(B) 378 bZloh  (B)  378 AD 

(C) 378 bZ-iw-  (C)  378 BC 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

29. ,fMª;kuksiy dk ;q) fduds e/; yM+k x;k \ 
 

29. Battle of Adrianople was fought  

between : 

(A) vaxzstksa rFkk Ýkalhlh  (A) British and French 

(B) jkseu rFkk ;wukuh  (B)  Roman and Greek 

(C) vaxzstksa rFkk jkseu  (C)  British and Roman 

(D) xksFkksa rFkk jkseu  (D)  Goths and Roman 

30. ,fMª;kuksiy ds laxzke esa fdldh fot; gqbZ \ 
 

30. Who won the Battle of Adrianople ? 

(A) jkseu dh  (A) Romans 

(B) bZjkfu;ksa dh  (B)  Iranians 

(C) xksFkksa dh  (C)  Goths 

(D) ;wukfu;ksa dh  (D)  Greeks 

31. ,fMª;kuksiy ds laxzke esa fdldh ijkt;  

gqbZ \ 

 
31. Who lost in the battle of Adrianople ? 

(A) jkseu  (A) Roman 

(B) fldUnj  (B)  Alexander 

(C) gSjksYM  (C)  Harold 

(D) ,MoMZ  (D)  Edward 
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32. ,fMª;kuksiy dk laxzke fdl unh ds rV ij 

yM+k x;k Fkk \ 

 
32. Battle of Adrianople was fought on the 

banks of which River ? 

(A) ek;s unh  (A) Maya River 

(B) felhflih unh  (B)  Mississippi River 

(C) MsU;wc unh  (C)  Danube River 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

33. iSny lsuk dk iru fdl ;q) ds lkFk gks  

x;k \ 

 
33. Which war is associated with the fall of 

the infantry ? 

(A) vjcsyk dk laxzke  (A) Battle of Arbela 

(B) ,fMª;kuksiy dk laxzke  (B)  Battle of Adrianople 

(C) dSus dk laxzke  (C)  Battle of Cannae 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

34. gsfLVaXl dk laxzke dc yM+k x;k \ 
 

34. When was battle of Hastings fought ? 

(A) 1066 bZloh  (A) 1066 AD 

(B) 1064 bZloh  (B)  1064 AD 

(C) 1060 bZloh  (C)  1060 AD 

(D) 1077 bZloh  (D)  1077 AD 

35. gSfLVaXl dk laxzke fdu ns’kksa ds e/; yM+k 

x;k \ 

 
35. Battle of Hastings was fought among 

which of the following countries ? 

(A) baXySaM rFkk Ýkal  (A) British and French 

(B) fczfV’k rFkk ;wuku  (B)  British and Greek 

(C) ;wuku rFkk bZjku  (C)  Greek and Iran 

(D) Ýkal rFkk bZjku  (D)  French and Iran 
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36. gsafLVaXl ds laxzke esa fdldks thr feyh \ 
 

36. Who won the Battle of Hastings  ? 

(A) gSjksYM  (A) Harold 

(B) fofy;e vkWQ ukeZ.Mh  (B)  William of Normandy 

(C) gSuhcy  (C)  Hannibal 

(D) usiksfy;u  (D)  Napoleon 

37. gSjksYM fdl ns’k dk lsukifr Fkk \ 
 

37. Harold was military commander of which 

Country ? 

(A) baXySaM  (A) England 

(B) Ýkal  (B)  French 

(C) ;wuku  (C)  Greek 

(D) bZjku  (D)  Iran 

38. gsfLVaXl ds laxzke esa ukWeZu lsuk dk usr`Ro 

fdlus fd;k \ 

 
38. Who led the Norman Army at the battle 

of Hastings ? 

(A) fofy;e  (A) William 

(B) gSjksYM  (B)  Harold 

(C) usiksfy;u  (C)  Napoleon 

(D) Msfj;l  (D)  Darius 

39. cSfVy fgy uked igkM+h ij fdlus viuh 

fLFkfr yh \ 

 
39. Who acquired his position on the Battle 

Hill ? 

(A) usiksfy;u  (A) Napoleon 

(B) gSjksYM  (B)  Harold 

(C) fofy;e  (C)  William 

(D) gSuhcy  (D)  Hannibal 
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40. Vsyge fgy uked igkM+h ij fdlus viuk 

LFkku xzg.k fd;k \ 

 
40. Who acquired his position on the Telhem 

Hill ? 

(A) fofy;e  (A) William 

(B) gSjksYM  (B)  Harold 

(C) fQfyi  (C)  Philip 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

41. gsfLVaXl ds laxzke esa fdl lsukifr dh fot; 

gqbZ \ 

 
41. Which military commander won the 

battle of Hastings ? 

(A) fofy;e  (A) William 

(B) ,MoMZ  (B)  Edward 

(C) gSjksYM  (C)  Harold 

(D) usiksfy;u  (D)  Napoleon 

42. gsfLVaXl ds laxzke esa fdldh ijkt; gqbZ \ 
 

42. Who was defeated in the battle of 

Hastings ? 

(A) vaxzsth lsuk  (A) British army 

(B) ;wukuh lsuk  (B)  Greek army 

(C) Ýkalhlh lsuk  (C)  French army 

(D) bZjkuh lsuk  (D)  Iranian army 
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43. Øslh dk izfl) laxzke dc yM+k x;k \ 
 

43. When was the famous battle of Crecy 

fought ? 

(A) 1066 bZloh  (A) 1066 AD 

(B) 1191 bZloh  (B)  1191 AD 

(C) 1340 bZloh  (C)  1340 AD 

(D) 1346 bZloh  (D)  1346 AD 

44. Øslh dk laxzke fuEufyf[kr esa ls fdu jk”Vªksa 

ds e/; yM+k x;k \ 

 
44. Battle of Crecy was fought between 

which of the following countries ?  

(A) Ýkal rFkk teZuh  (A) France and Germany 

(B) teZuh rFkk baXySaM  (B)  Germany and England 

(C) Ýkal rFkk baXySaM  (C)  France and England 

(D) ;wuku rFkk bZjku  (D)  Greece and Iran 

45. Øslh ds laxzke esa fdl lsukifr dh thr  

gqbZ \ 

 
45. Which military commander won the 

battle of Crecy ? 

(A) fofy;e  (A) William 

(B) ,MoMZ III  (B)  Edward III 

(C) fQfyi  (C)  Philip 

(D) gSjksYM  (D)  Harold 
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46. Øslh ds laxzke esa fdl lsukifr dh ijkt; 

gqbZ \ 

 
46. Which military commander was defeated 

in the battle of Crecy ?  

(A) fQfyi VI  (A) Philip VI 

(B) fofy;e  (B)  William 

(C) ,MoMZ III  (C)  Edward III 

(D) gSjksYM  (D)  Harold 

47. Øslh ds laxzke esa fdl ns’k dh lsuk us fr;Zd 

/kuq”kksa dk iz;ksx fd;k Fkk \ 

 
47. Which country‟s army used the cross-

bow in the battle of Crecy ? 

(A) vaxzsth lsuk  (A) British army 

(B) ;wukuh lsuk  (B)  Greek army 

(C) Ýkalhlh lsuk  (C)  French army 

(D) bZjkuh lsuk  (D)  Iranian army 

48. Øslh ds laxzke esa fdl ns’k dh lsuk us yEcs 

/kuq”kksa dk iz;ksx fd;k Fkk \ 

 
48. Which country‟s army used the long-bow 

in the Battle of Crecy ? 

(A) teZu lsuk  (A) German army 

(B) Ýkalhlh lsuk  (B)  French army 

(C) vaxzsth lsuk  (C)  British army 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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49. Øslh ds laxzke esa fdl ‘kL= us fu.kkZ;d 

Hkwfedk fuHkk;h \ 

 
49. Which weapon played a decisive role in 

the battle of Crecy ? 

(A) fr;Zd /kuq”k&ck.k  (A) Crossbow 

(B) yEcs /kuq”k&ck.k  (B)  Long bow 

(C) yEcs Hkkys  (C)  Long spear 

(D) vkXus;kL=  (D)  Firearms 

50. fdl lsuk dks ^;q) {ks= dh jkuh* ds :i esa 

tkuk tkrk gS \ 

 
50. Which army is known as the „queen of 

the battlefield‟ ? 

(A) v’okjksgh lsuk  (A) Cavalary 

(B) jFk lssuk  (B)  Chariots 

(C) iSny lsuk  (C)  Infantry 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None on the above 

51. Ýkalhlh Økafr dh ‘kq#vkr fdl o”kZ esa gqbZ  

Fkh \ 

 
51. In which year French revolution was 

started ? 

(A) 1789 bZLoh  (A) 1789 AD 

(B) 1799 bZLoh  (B)  1799 AD 

(C) 1889 bZLoh  (C)  1889 AD 

(D) 1989 bZLoh  (D)  1989 AD 
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52. Ýkalhlh Økafr ds le; Ýkal dk ‘kkld dkSu 

Fkk \ 

 
52. Who was the ruler of France when the 

French revolution took place ? 

(A) yqbZ pkSngok¡  (A) Louis XIV 

(B) yqbZ iUnzgok¡  (B)  Louis XV 

(C) yqbZ lksygok¡  (C)  Louis XVI 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the these 

53. usiksfy;u dk tUe fdl o”kZ esa gqvk Fkk \ 
 

53. Napoleon was born in the year : 

(A) 1769 bZloh  (A) 1769 AD 

(B) 1789 bZloh  (B)  1789 AD 

(C) 1799 bZloh  (C)  1799 AD 

(D) 1869 bZloh  (D)  1869 AD 

54. ^lsuk isV ds cy pyrh gS* dFku fdldk gS \ 
 

54. „An army marches on its stomach‟ was 

said by : 

(A) fldUnj egku  (A) Alexander the Great 

(B) ÝsfMªd egku  (B)  Frederick the Great 

(C) usiksfy;u  (C)  Napoleon 

(D) xqLrkol ,MkYQl  (D)  Gustavus Adolphus 

55. ßHkfo”; esa eSa ,d ;q) rks gkj ldrk gw¡ ijUrq 

,d feuV [kksuk lgu ugha dj ldrkAÞ 

dFku fdldk gS \ 

 
55. “In Future I can lose a battle, but not a 

single minute” was said by : 

(A) DyktfoV~t  (A) Clausewitz 

(B) usiksfy;u  (B)  Napoleon 

(C) lUrtw  (C)  Sun Tzu 

(D) fldUnj  (D)  Alexander 
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56. usiksfy;u }kjk yM+h x;h vafre yM+kbZ Fkh % 
 

56. Last battle fought by Napoleon was : 

(A) fyiftx dk laxzke  (A) Battle of Leipzig 

(B) VªQkYxj dk laxzke  (B)  Battle of Trafalgar 

(C) okVjyw dk laxzke  (C)  Battle of Waterloo 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

57. usiksfy;u dh e`R;q dgk¡ gqbZ Fkh \ 
 

57. Where did Napoleon die ? 

(A) lasV gsysuk }hi  (A) Saint Helena Island 

(B) isfjl  (B)  Paris 

(C) dksflZdk }hi  (C)  Corsica Island 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

58. ^iw.kZ l’kL= jk”Vª* dh vo/kkj.kk fdlus nh \ 
 

58. Who gave the concept of ^Total Nation-

in-Arms* ? 

(A) fgVyj  (A) Hitler 

(B) usiksfy;u  (B)  Napoleon 

(C) tksfeuh  (C)  Jomini 

(D) lUrtw  (D)  Sun Tzu 

59. vesfjdh x`g ;q) dh le;kof/k D;h Fkh \ 
 

59. What was the time-period of the 

American Civil War ? 

(A) 1861&1865  (A) 1861&1865 

(B)  1756&1763  (B)  1756&1763 

(C)  1914&1918  (C)  1914&1918 

(D)  1939&1945  (D)  1939&1945 
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60. vesfjdh x`g ;q) dk D;k dkj.k Fkk \ 
 

60. What was the cause of American Civil 

War ? 

(A) nkl izFkk  (A) Slavery 

(B) /keZokn  (B)  Religionism 

(C) tkfrokn  (C)  Cssteism 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

61. vesfjdh x`g ;q) ds nkSjku mŸkjh vesfjdk dk 

lsukifr dkSu Fkk \ 

 
61. Who was the commander of North 

America during the American Civil War ? 

(A) tujy xzkaV ,oa tujy ‘kjeu  (A) General Grant and General 

Sherman 

(B) tujy yh  (B)  General Lee 

(C) fldUnj egku  (C)  Alexander the Great 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

62. vesfjdu x`g ;q) ds nkSjku nf{k.kh vesfjdk 

dk lsukifr dkSu Fkk \ 

 
62. Who was the commander of South 

America during the American Civil  

War ? 

(A) tujy ‘kjeu  (A) General Sherman 

(B) tujy xzkaV  (B)  General Grant 

(C) tujy yh  (C)  General Lee 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 



A120801T ( 20 )  Set-A 

63. nf{k.k vesfjdk dk eq[; O;olk; D;k Fkk \  
 

63. What was the main occupation of South 

America ? 

(A) d`f”k ij vk/kkfjr  (A) Based an Agriculture 

(B) m|ksx /kU/kksa ij vk/kkfjr  (B)  Based on Industries 

(C) nksuksa (A) rFkk (B)  (C)  Both (a) and (b) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

64. mŸkjh vesfjdk ds yksx fdldk fojks/k dj jgs 

Fks \ 

 
64. People of North America were protesting 

against ? 

(A) d`f”k dk  (A) Agriculture 

(B) nkl izFkk dk  (B)  Slavery 

(C) nksuksa (A) rFkk (B)  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

65. vesfjdh x`g ;q) ds nkSjku vczkge fyadu 

dkSu ls jk”Vªifr Fks \ 

 
65. Which President was Abraham Lincoln 

during the Americal Civil war ?  

(A) 11osa  (A) 11
th

 

(B) 12osa  (B)  12
th

 

(C) 14osa  (C)  14
th

 

(D) 16osa  (D)  16
th
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66. :l vkSj tkiku ds chp ;q) fdl o”kZ gqvk 

Fkk \ 

 
66. In which year did the war between Russia 

and Japan take place ? 

(A) 1904-1905  (A) 1904-1905 

(B)  1914-1918  (B)  1914-1918 

(C)  1919-1921  (C)  1919-1921 

(D)  1927-1935  (D)  1927-1935 

67. :l vkSj tkiku ds chp fdl izdkj dk ;q) 

gqvk Fkk \ 

 
67. What kind of war was fought between 

Russia and Japan ? 

(A) leqnzh ;q)  (A) Maritime warfare 

(B) gokbZ ;q)  (B)  Aerial Warfare 

(C) ijek.k ;q)  (C)  Nuclear Warfare 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

68. :l vkSj tkiku ds chp ;q) dk dkj.k D;k 

Fkk \ 

 
68. What was the reason of war between 

Russia and Japan ? 

(A) phu dh ?ksjscUnh  (A) Siege of China 

(B) tkiku dh ?ksjscUnh  (B)  Siege of Japan 

(C) iksVZ vkFkZj ?ksjscUnh  (C)  Siege of Port Arthur 

(D) dksfj;k dh ?ksjscUnh  (D)  Siege of Korea 

69. :l ,oa tkiku ds chp ;q) esa fdldh ijkt; 

gqbZ \ 

 
69. Who lost in the battle between Russia and 

Japan ? 

(A) :l   (A) Russia 

(B) tkiku  (B)  Japan 

(C) phu  (C)  China 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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70. ßlkezkT;okn iw¡thokn dk vfUre pj.k gSÞ 

iqLrd fdldh gS \ 

 
70. “Imperialism, the highest stage of 

capitalism” is a book by : 

(A) Oyknehj ysfuu  (A) Vladimir Lenin 

(B) tkslsQ LVkfyu  (B)  Joseph Stalin 

(C) foaLVu pfpZy  (C)  Winston Churchill 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

71. ßlH; jk”Vªksa dh detksj ,oa fiNM+s yksxksa ij 

‘kklu djus dh bPNk ,oa uhfr gh lkezkT;okn 

dgykrh gSÞA fdldk dFku gS \ 

 
71. Who said, “The desire and policy of 

civilized nations to rule over weak and 

backward people is called Imperialism” ? 

(A) MwgsV  (A) Douhet 

(B) eSfd.Mj  (B)  Mackinder 

(C) Qqyj  (C)  Fuller 

(D) pkYlZ ck;MZ  (D)  Charles Bayard 

72. tc ,d jk”Vª&jkT; viuh lhekvksa ds ckgj 

tkdj nwljs ns’kksa vkSj jkT;ksa esa gLr{ksi djrk 

gS rks dgk tkrk gS %  

 
72. A Nation-State going beyond its 

territorial limits to interfere with other 

State and Nations‟ policies is known as : 

(A) jk”Vªokn  (A) Nationalism 

(B) lSU;okn  (B)  Militarism 

(C) lkezkT;okn  (C)  Imperialism 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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73. izFke fo’o ;q) dk dky D;k Fkk \ 
 

73. What was the period of the first world 

war ? 

(A) 1914-1918  (A) 1914-1918 

(B)  1919-1920  (B)  1919-1920 

(C)  1919-1939  (C)  1919-1939 

(D) 1939-1945  (D)  1939-1945 

74. izFke fo’o ;q) fdl fnu ‘kq: gqvk  

Fkk \ 

 
74. On which date did the World War First 

start ? 

(A) 28 twu] 1814  (A) 28 June, 1814 

(B) 28 tqykbZ] 1914  (B)  28 July, 1914 

(C) 28 flrEcj] 1914  (C)  28 September, 1914 

(D) 28 uoEcj] 1919  (D)  28 November, 1919 

75. fuEufyf[kr esa ls dkSu ls izFke fo’o ;q) ds 

dkj.k Fks \ 

 
75. Which of the following were the causes 

of the First World War ? 

(A) lSU;okn  (A) Militarism 

(B) xBca/ku  (B)  Alliances 

(C) lkezkT;okn  (C)  Imperialism 

(D) mi;qZDr lHkh  (D)  All of the above 
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76. izFke fo’o ;q) dk rkRdkfyd dkj.k D;k  

Fkk \ 

 
76. What was the immediate cause of the first 

world war ? 

(A) vkfLVª;k ds jktdqekj dh gR;k   (A) Assassination of the Prince of 

Austria 

(B) teZuh ds jktk dh gR;k  (B)  Assassination of the king of 

Germany 

(C) :l ds tkj dh gR;k  (C)  Assassination of Tsar of Russia 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

77. igyh ckj VSadksa dk iz;ksx dc fd;k x;k  

Fkk \ 

 
77. When were the tanks used for the first 

time ? 

(A) 1916  (A) 1916 

(B)  1819  (B)  1819 

(C)  1997  (C)  1997 

(D)  1897  (D)  1897 

78. izFke fo’o ;q) esa fdldh ijkt; gqbZ \ 
 

78. Who lost in the first world war ? 

(A) baXySaM  (A) England 

(B) :l  (B)  Russia 

(C) teZuh  (C)  Germany 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

79. izFke fo’o ;q) ls :l dc ckgj gqvk \ 
 

79. When did Russia withdraw from World 

War I ? 

(A) 1914  (A) 1914 

(B)  1915  (B)  1915 

(C)  1916  (C)  1916 

(D)  1917  (D)  1917 
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80. izFke fo’o ;q) ls :l D;ksa ckgj  

gqvk \ 

 
80. Why did Russia Withdraw from World 

War I ? 

(A) :lh ØkfUr  (A) Russian revolution 

(B) Ýkalhlh ØkfUr  (B)  French revolution 

(C) :l ds tkj dh gR;k  (C)  Assassination of Tsar of Russia 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

81. olkZ; dh laf/k ij dc gLrk{kj fd;s x;s  

Fks \ 

 
81. When was the Treaty of Versailles  

signed ? 

(A) 1919  (A) 1919 

(B)  1925  (B)  1925 

(C)  1939  (C)  1939 

(D)  1945  (D)  1945 

82. olkZ; dh laf/k fdl ‘kgj esa gqbZ Fkh \ 
 

82. In which city the Treaty of Versailles was 

signed ? 

(A) isfjl  (A) Paris 

(B) cfyZu  (B)  Berlin 

(C) yanu  (C)  London 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 



A120801T ( 26 )  Set-A 

83. olkZ; dh laf/k esa fczVsu dk izfrfuf/kRo fdlus 

fd;k Fkk \ 

 
83. Who represented Britain in the Treaty of 

Versailles ? 

(A) DysesaL;w  (A) Clemenceau 

(B) foYlu  (B)  Wilson 

(C) ykW;M tktZ  (C)  Lloyd George 

(D) vkWjySaMks  (D)  Orlando 

84. olkZ; dh laf/k esa Ýkal dk izfrfuf/kRo fdlus 

fd;k Fkk \ 

 
84. Who represented France in the Treaty of 

Versailles ? 

(A) DysesaL;w  (A) Clemenceau 

(B) ykW;M tktZ  (B)  Lloyd George 

(C) eqyj  (C)  Muller 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

85. olkZ; dh laf/k ds le; vesfjdk dk jk”Vªifr 

dkSu Fkk \ 

 
85. Who was the president of America at the 

time of the Treaty of Versailles ? 

(A) vczkge fyadu  (A) Abraham Lincoln 

(B) oqMjks foYlu  (B)  Woodrow Wilson 

(C) ÝSadfyu Mh- :tosYV  (C)  Franklin D. Roosevelt 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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86. olkZ; dh laf/k us fdl ;q) ds cht cks;s \ 
 

86. The Treaty of Versailles sowed the seeds 

of which war ? 

(A) vesfjdh x`g ;q)  (A) American Civil war 

(B) izFke fo’o ;q)  (B)  First world war 

(C) f}rh; fo’o ;q)  (C)  Second world war 

(D) mi;qZDr es ls dksbZ ugha  (D)  None of the above 

87. ukthokn dk mn; fdlds v/khu gqvk \ 
 

87. Nazism rose under the reign of : 

(A) usiksfy;u  (A) Napoleon 

(B) fgVyj  (B)  Hitler 

(C) eqlksfyuh  (C)  Mussolini 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

88. ukthokn dk xBu D;ksa gqvk Fkk \ 
 

88. Why was Nazism formed ? 

(A) fe= jk”Vªksa ls cnyk ysus ds fy,  (A) To take revenge from allies 

(B) vkWfLVª;k ls cnyk ysus ds fy,  (B)  To take revenge from Austria 

(C) teZuh ls cnyk ysus ds fy,  (C)  To take revenge from Germany 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

89. fgVyj dk tUe dgk¡ gqvk Fkk \ 
 

89. Where was Hitler born ? 

(A) vkWfLVª;k  (A) Austria 

(B) tkWftZ;k  (B)  Georgia 

(C) dksflZdk  (C)  Corsica 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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90. fgVyj dgk¡ dk ‘kkld Fkk \ 
 

90. Hitlar was the ruler of : 

(A) teZuh  (A) Germany 

(B) bVyh  (B)  Italy 

(C) tkiku  (C)  Japan 

(D) vkWfLVª;k  (D)  Austria 

91. jk”Vª la?k fdl o”kZ vfLrRo esa vk;k \ 
 

91. League of Nations came into existence in 

which year ? 

(A) 1914  (A) 1914 

(B)  1920  (B)  1920 

(C)  1945  (C)  1945 

(D)  1949  (D)  1949 

92. f}rh; fo’o ;q) dh izeq[k /kqjh ‘kfDr;ksa esa 

‘kkfey Fks % 

 
92. The major axis power of the Second 

World War consisted of : 

(A) teZuh] :l] tkiku  (A) Germany, Russia, Japan 

(B) Ýkal] bVyh] tkiku  (B)  France, Italy, Japan 

(C) teZuh] bVyh] tkiku  (C)  Germany, Italy, Japan 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

93. f}rh; fo’o ;q) dh vof/k D;k Fkh \ 
 

93. What was the duration of World War II ? 

(A) 1914 - 1918  (A) 1914 - 1918 

(B)  1939 - 1945   (B)  1939 - 1945  

(C)  1918 - 1939   (C)  1918 - 1939  

(D)  1914 - 1945   (D)  1914 - 1945  
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94. f}rh; fo’o ;q) esa dkSu ls ns’k ‘kkfey  

Fks \ 

 
94. Which countries were involved in World 

War II ? 

(A) vkWLVsªfy;k  (A) Australia 

(B) fczVsu  (B)  Britain 

(C) teZuh  (C)  Germany 

(D) mi;qZDr lHkh  (D)  All of the above 

95. f}rh; fo’o ;q) ds nkSjku fdl ns’k us iyZ 

gkcZj ij geyk fd;k \ 

 
95. Which country attacked Pearl Harbor 

during World War II ? 

(A) tkiku  (A) Japan 

(B) phu  (B)  China 

(C) teZuh  (C)  Germany 

(D) :l  (D)  Russia 

96. f}rh; fo’o ;q) dc ‘kq: gqvk Fkk \ 
 

96. When did World War II start ? 

(A) 1914  (A) 1914 

(B)  1918  (B)  1918 

(C)  1939  (C)  1939 

(D)  1945  (D)  1945 
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97. fgjksf’kek ij ijek.kq ce dc fxjk;k x;k  

Fkk \ 

 
97. When was the atom bomb dropped on 

Hiroshima ?  

(A) 6 tqykbZ] 1939  (A) 6 July, 1939 

(B) 6 vxLr] 1945  (B)  6 August, 1945 

(C) 6 flrEcj] 1945  (C)  6 September, 1945 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

98. ukxklkdh ij ijek.kq ce dc fxjk;k x;k  

Fkk \ 

 
98. When was the atom bomb dropped on 

Nagasaki ? 

(A) 6 tqykbZ] 1945  (A) 6 July, 1945 

(B) 6 vxLr] 1945  (B)  6 August, 1945 

(C) 9 vxLr] 1945  (C)  9 August, 1945 

(D) 9 uoEcj] 1945  (D)  9 November, 1945 

99. f}rh; fo’o ;q) dc lekIr gqvk \ 
 

99. When did World War II end ? 

(A) 1918  (A) 1918 

(B)  1920  (B)  1920 

(C)  1939  (C)  1939 

(D)  1945  (D)  1945 

100. la;qDr jk”Vª dh LFkkiuk dc gqbZ Fkh \ 
 

100. When was the United Nations  

established  ? 

(A) 28 twu] 1914  (A) 28 June, 1914 

(B) 10 tuojh] 1920  (B)  10 January, 1920 

(C) 24 vDVwcj] 1945  (C)  24 October, 1945 

(D) 4 vizSy] 1949  (D)  4 April, 1949 
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4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the  correct 
answer and mark the same in the OMR 
Answer-Sheet as per the direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

lgh mŸkj Nk¡Vuk gSA mŸkj dks OMR vkUlj&’khV esa 

lEcfU/kr iz’u la[;k esa fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 
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